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Trovail valoredi R.
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L eggere linee numerate non tradizionali Nome:
Risposte
500 510 520
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R
500 550 600
“ I ——— 1 — O F—+—t»
R
800 810 820
< O : >
| | |
R

[M atemati Ca] www.CommonCoreSheets.it

1-10 90|80 70|60 |50]40]30]20[10] O |




=

L eggere linee numerate non tradizionali Nome:
Trovail valoredi R.
1) 500 510 520
] : : ® i : : B
R
2) 100 120 140
A 1 1 1 I 1 1 I 1 1 | .
| T T T T . T T T L
| T | ! |
R
3) 6(|')0 eelso 7%0
R
4) 800 900 1.000
1 —————— :
R
5) 700 710 720
“—— — o——] — : ——
R
6) 300 350 400
Pl ‘ | | | | | | »
< I | | | | |
R
7) 3(|)o 4(|)o 5(|)o
< : | O >
R
8) 3c|)o 3?0 3elso
«} : : , O : >
R
9) 500 550 600
“—— - | | | O ——>
R
10) 8(|)0 8|10 8%0
O | : >
R

Soluzioni
Risposte
1 507,5
2 124
3, 630
4 990
5, 708
6. 310
7 450
8 345
9 575
10, 805
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